€€

3-3# &
SREE

—fBE
L #HEA
7€ n B EYEHE k(B meaE S8 -
(A A FEY) eI EE)
|
- k!(nn—k)! Osk=ne
D KSR 6 TE/KER  MEMEFTEIE 2 fE > BEAY A Ci =157 -
2. CiHyME -
(1) ch=1-Cp=1-
En@EEOE > HA1ERE ME T AE, -
WEn{EEEnE HAE1EEE GiE T2, -
(2) Ci=Chvo (0<k<n)
T n (EEE K (E > TN n— kA o RILL T35 ke (E , B2 T3 n — k{  J57ER0EE -
I Cr=Cy 0
cfélasbscrd el B2 HFEHA C HJTA - (B2 2 {EFLF 3
@ Pl BEa bFI N d es BEa>cFlb d e
58 2 ERY A BLEE 3 (BRI AMHEFE - FrLEMey A8 & e >
e Ci=C1 -
—~ZIEKEIE
5 on RIFEEE D K (x+y)" BH > EiVE—THEE n R GEET LA Cr iYF
HFTR o (x+y)"=Coxy' + Cix" Iyl oo + ooy Cux’y o HrhE—RIE A
Cix" 5 o k=012 ' n o IHFEY Cr TE A ZIAAREL -
D (x ) =0+ CIXY + CXY + CXYY = CiX + Cixy + Cixy + C3y e
= BiF=Ak
FIHZEAEHER (x+y)" Hftn=0-1>2>3> - FHREREZRITHIZ
HAUFZH Ch -
B Ci HEl =AY » AR R=AF (B =AF ) -
C$ 1

Cy Ci 1
QD
3 1
4

Ci

1
c: Cct C 1
o e Me: Q /@
cy ¢t i ¢t ci 1 4 6
| F—YEFE R AT (HH%) ¢
BERACI=C o Ci=C=1¢
2 TEErRAZL:
=55 » [ &5 BRImSS - EMEVEEER BT AR S B
Ci=Ci-i+Ci ' »1<k<n—1-°

SHREE(2) - BIER



g 1 Heaak
(1) sstE CY oA - (54)
2 Bsice=cy iKkfE- (55)
(1) cn = 20X19x18
1x2x3
= 1140
(2) k=3 k=12-3=9
Sok=3309

fhizE 2 EEARE

(1) HRHRE - BRI BRI > 12 8 [EFBCEEIIRE g 3 8 > A %ET R
AUSEIEAHE 2 (5 43)

(2) HEHTERE 2B AR RS > PRSI ERENR: - s RHA %P
=2 (553)

B . 8x7x6
1 ci= 1 x2x3
=56 (fd)
. 5x4
(2) C3 —W— 10 (&)

£3E  HIIMEAREMKER

€€



€€

8 3 HHEHTERIE
(1) AEOUATE  FHEFER R " RaSerrE ) B - WA RHECZ 6 %2 T
ES5EE2 > TR 3B AURIEEHEL 5 8 2 o S HA KEEEHAERYTEE 2 (547)
(2) FHEEZFH RN S BB T X UMZET » B 5 BWEHEE » R EE—
&R gE/ DTS 2 A > s A M e gERvaH S 2 (547)
B (1) CSxCxCixCs
=15x10x3x 10
= 4500 (f& )
(2) HEER > FJgEE 2 B3 L3 H2 L
SLCY X CT+CY x (]
=28 x 35+ 56 x 21
=980+ 1176
=2156 (f&)

B8 4 DHEDHERE
8 AAREEVER NI R 3 #E > ek &A% L 2
(1) —HES A —HE2 R —HE1 AR (553)
(2) —HE4 AR —HE2 AR —HE2 AR - (557)
B (1) CixCxCl
=56x3x1=168(f&)

1
4 2
Q)&x&xaxaf

=70x6x;=2m<@)

SHREE(2) - BIER



T GIRE 5 (AR

5 B SE RIS E 4/ MR » SRS E#E DA ?

1) 5348 8 /NI » AR 1 K (B 3 Nga#E) - (54)
2) mr&a 3B/ NAK  BAEZ 28K (553)

(1) #7E 8 AriE s N&45 1%

—~ —

Ct=56(F#)
(2) 5=2+2+1> Bl 3 A 2 A&4%E 2 1%
C3=3(f#)

TG 6 iZaRE
AT EAEHE LR LLER Y 8 B4 ~ 6 Al - KL 2 S TEEIENY 400 AR
whE > 5k
(1) GWERZHE AL — R EREETXE? (55)
(2) BEBELGHERE—REEIUR > LAELHERE - =% WHEEBMHEFXE? (557)
B s B4 N> Ci=28
el 2 N Cs=15
(1) PEMRZHE A8 P =41=24
S. 28 x 15 x 24 =10080 ( f& )
(2) BAFHTH 2 & - ZEtH 2 E
C.o28x 15 x 21 x 21 =1680 (fi )

£3E  HIIMEAREMKER

€€



€€

< GigE 7 —IERXFECG
(1) Bk (x+y)" BRR - ) IR - (553)
(2) 3k (x—y)° BRE > X% TEGRE - (557)
(1) (x+y) B THA Clxy
CREL Cl =21
(2) (x—y)°=[x+(=y) P
A I E Cit (=) =— iy’
SRR -CI=-10

© pIsE 8 —IEXFIEO
(1) 5k (2x +y)” BETE > Xy THIVARE - (543)
(2) 35k (3x—2p)° BRI » x)° TEIVERE - (543)
(1) (2x+y)° B9 X" T2
C3(2x)%' =2°Cixy’
S AREUR 8 X C3 =8 % 10=80
(2) (3x—2y)°=[3x+(-2y) )’
xR C(3x) (=2y)2=3(-2)Cin)’
CARE 3 x4 X C3=3%x4x3=36

SHREE(2) - BIER



THIE 9 Efik=AK

FHEOTEREH ~ 27~ T~ - B~ B 5 8 Akl s ASNEEEREEE - 50K

(1) EEEPEE - A%EHE? (573)

(2) e NEEHA m 575 - WA o 575 > RIEE (n o n)=2 (573)

(1) ci=56(FF)
(2) A > HHER 7 NS A

>m=C,=21
WDhSEER - R 7 A3E 4 A
>n=C;=35

S (mo, n)=(21, 35)
D AREHAFER(1)(2)/)NE ¢t = ¢l + C
EEtrEAX cr=citt + !

< 5IRE 10 A AXER

(1) ZH2C:=Cy"' > 5K nfE - (553)
(2) B Cr+Ci,=21>5Kn{H- (55)
(1) 2¢3 =y

n! (n+1)! 2 X pnl
=2 =

_ (n+1)xn!

“Nn—2 -2 2(n-2)1

1 n+1
:}7:

1 6
(2) Ci+Cr,=21

>nt+tl=6=>n=>5

n(n—1)
1 %2
Son+nt—n=42=>n"+n—42=0
=>(n—-6)(n+7)=0=>n=6-7(K&E)

Hn=6

=>CitC;=21=>n+ 21

6(n—2)!

b
w
o

€€

B

RS SR



